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Question Number : 26 Question Id : 40503611556 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Which one of the ff}llowing statements is

not true ?

Options :

Lactose (Cy;H,,0,4) is a disaccharide

40503641881.

and it contains 8 hydroxyl groups.

On acid hydrolysis, lactose gives one

molecule of D(+)-glucose and one

40503641882.

molecule of D( + )-galactose.

Lactose is a reducing sugar and it

40503641883, Sives Fehling’s test.

Lactose contains u—g[}-'cosidic Linkagc-

between C, of galactose and C, of

40503641884, Slucose.

Qcollegeduniaa



Question Number : 26 Question Id : 40503611556 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ottt 3 & F W U Fo W T 7
Options :

HHA (CHp0py) TF TEHHTEE &
40503641831, TN T 8 TESRIE TE €

AT Tl ATTEA FI4 T, iFeId
D(+)-TE®HI" FT TH HI q1
20503641882, DU ) TR 1 T 31 < €

[GECIC R G o o e o i B R e |
40503641883, T T

oM H o™ % C, 991 M &

C, &% =9 o-THEHEEe a9 B g |
40503641884, 4 = B e

Question Number : 27 Question Id : 40503611557 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The correct match between Iltem - I and

Item -1l 1s:
Item -1 Item - 1l

(@) Natural (I) 1, 3-butadiene
rubber + styrene

(b) Neoprene (II) 1, 3-butadiene
+ acrylonitrile

(c) Buna-N  (III) Chloroprene

(d) Buna-5 (IV) Isoprene

Options :

10503641855, (@ - 1D, (b) - (IV), (c) - (1), (d) - ()



40503641886, (@) = (), (b) - (IV), (c) - (1), (d) - (T)
40503641887 (&) = (IV), (b) - (III), (c) - (1), (d) - (I}

40503641888, (@ = (V). (b) - (D), (c) - (II), (d) - (T)

Question Number : 27 Question Id : 40503611557 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
T - | 991 U2 - 11 3 <1< Tl gHel 2

e -1 e - 11
(a) WHfTR WD) 13-
+ WIEE
(by THEME () 1,3==EA
+ UfshersTge
() =N (IIT) SRS

N n

(d) =TS (Iv) =TedH™
Options :

s0s03641585. (@ - @D, (B) - (V), () - (D), (d) - (I)
10503641556, (@ - @D, (B) - (IV), (9) - (1), (d) - (1)
s0s03641557. (@ - @), () - @D, (9) - (D), (d) - (1)

40503641888, (@ = (V). (b) - (D), (c) - (II), (d) - (T)

Question Number : 28 Question Id : 40503611558 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following compounds can be
prepared in good yield by Gabriel
phthalimide synthesis ?

Options :



O
[
_ CHy—C—NH,

40503641889.

CH,NH,

40503641890, -

40503641891, T3~ CH2~ NHCH,

NH,

e

40503641892,

Question Number : 28 Question Id : 40503611558 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Correct Marks : 4 Wrong Marks : 1
feAferfiaa el & & ford st=et = e
Sfemrse Wy F GRI T S Gl & 7
Options :

O
[
_ CHy—C—NH,

40503641889.

CH,NH,

40503641890,



CH,; - CH,— NHCH,
40503641891. ; B ;

NH,

40503641892.

Question Number : 29 Question Id : 40503611559 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The correct match between Item - 1 (starting
material) and Item - 11 (reagent) for the

preparation of benzaldeh}-'de is:

Item -1 Item - 11
(I) Benzene (P) HCland
SnC 12, HHD .
(II) Benzonitrile (Q) H,, Pd-
BaS0O,, 5
and
quinoline
(III) Benzoyl Ry CO,HCAand
Chloride AlCL,

Options :
40503641893, D~ (R), (IT) - (P) and (IIT) - (Q)

40503641894, (D - (R), (I) - (Q) and (III) - (P)
40503641895, (D - (Q), (II) - (R) and (IIT) - (P)

40503641896, D ~ (P), (1) - (Q) and (1) - (R)

Question Number : 29 Question Id : 40503611559 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Tifeeese 1 99 F fau, U2 - 1 (mfvs
) AAN S - 11 ( AT9HREF ) o == |l o
T

-1 g - 11

() =i (P) HCIT=
SnCL,, H,O*

() a=ITEeTEd (Q H,, Pd-
BaSO,, S
q
e

() =1 FAsE  (R)  CO, HCl e
AICL,

Options :

40503641893, (D - (R), (II) - (P) @ (1) - (Q)
40503641894, (D = (R), (IT) - (Q) &1 (III) - (P)
40503641895, (D = (Q- (I0) - (R) 7= (L) - (P)

40503641896, (D ~ (), (1) - (Q) =1 (11D - (R)

Question Number : 30 Question Id : 40503611560 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1



The increasing, order of the bnﬂing points

of the major products A, B and C of the

following reactions will be :

fi
CH:CO
@ e S,
—— +HBr > B
b)
(c) 2 —— +HBr > C

Options :
40503641897, A<B<C

40503641898, B<C <A

40503641899, © <A <B

40503641900, A<C<B

Question Number : 30 Question Id : 40503611560 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

frfafaa sfafwme | 9= 3cel A, B
C % FFYAIHI F1 9=dl FHH 20 ;

I
(CeHsCO),

(a) o~ _~+HBr—————= A
(b) — +HBr > B
(c) ,,: + HBr » C

Options :
40503641897, A<B<C



40503641898, B<C<A

40503641899, © <A <B

40503641900, A<C<B

Question Number : 31 Question Id : 40503611561 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The IUPAC name of the following

compound is :

O,N~
CHO
Options :
3-amino-4-hydroxymethyl-5-

10503641901 Mitrobenzaldehyde

5-amino-4-hydroxymethyl-2-

40503641902 nitrobenzaldehyde

2-nitro-4- hj,-'dmx}-' 111c-th}-'1-5-amin 0

40503641903, Penzaldehyde

4 amino-2-for m}-'I-S-h}-'d rOXy meﬂ‘n}fl

40503641904, Nitrobenzene

Question Number : 31 Question Id : 40503611561 Question Type : MCQ Option Shuffling : Yes
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Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



fr=fefaa 4T %1 [UPAC M 2

—~
CHO
Options :
LYo D
40503641901. MPEfreaEe

5-UHH-4-BTs SERTH e

40503641902, -2 TEEIAICERTES

2- TS24 BISSEFETHIAA

40503641903, ~5-THI FICEETES

4-UHAI-2-RITHA-5-BES THATH TI@

o [a!

40503641904. e
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Correct Marks : 4 Wrong Marks : 1



Match the £ Dllnwmg :

Test / Method Reagent
(i) Lucas Test (a) CH50,Cl/
ag. KOH
(ii) Dumas method (b) HNO,/
AgNO,
(iii) Kjeldahl's (¢ CuO/CO,
method
(iv) Hinsberg Test (d) Conc. HCI
and ZnCl,
(e) HRSO,

Options :
140503641905, U-(b), (11)-(d), (iii)-(e), (iv)-(a)

40503641906, (D-(d), (ii)-(c), (iii)-(b), (iv)-(e)
(1)-(b), (iD)-(a), (iii)-(c), (iv)-(d)

40503641907.

140503641908, V(). (H)-(), (iid)-(e), (iv)-(@)

Question Number : 32 Question Id : 40503611562 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Foreferfiaa =1 et FIT
TitgroT / fafu IfueRti
(i) TIFEEET  (a) Cﬁl:Is‘—:’Ozﬂf
el KOH
(i) =gmn fafy (b) HNO,/
AgNO,

(i) “eer= fafg (© CuO/CO,

(iv) g wem (d) 9= HA &
Zn(l,



Options :
10503641905, U-(b), (1)-(d), (iii)-(e), (iv)-(a)

40503641906, (-(d), (ii)-(c), (iii)-(b), (iv)-(e)
40503641907, D=(b). (i)-(), (ii)-(c), (iv)-(d)

10503641908, V(). (@)-(), (iiD)-(e), (iv)-(@)

Question Number : 33 Question Id : 40503611563 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The element that can be refined by
distillation is :

Options :

40503641909. ZInc

40503641910, Mickel

40503641911, Un

40503641912, BAHUmM

Question Number : 33 Question Id : 40503611563 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
T e aftsrao steea & gr fan s
8T

Options :

Fad

40503641909, T

40503641910. e

40503641911, &

Qcollegeduniaé



40503641912. fe

Question Number : 34 Question Id : 40503611564 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Dihydrogen of high purity (> 99.95%) is
obtained through :
Options :
the electrolysis of acidified water

40503641913, using Pt electrodes.

40503641914 the elc-ctml}-'sis of brine solutiorn.

40503641915. the reaction of Zn with dilute HCL.

the electrolysis of warm Ba(OH),

40503641916. solution using Ni electrodes.

Question Number : 34 Question Id : 40503611564 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ATTIG SEeIEEeH (> 99.95%) 71 5 9 o

G0 T Bl € 7

Options :

Pt SETEEIE FI 3TN FF SFEHd o
40503641913, T 1AGA-ITHHET

40503641914, TN EERATERER sl ARIOR AR

40503641915, 20 1 T HCL % =9 Sisfswan

Ni SelIE &1 WM FF Ba(OH),

40503641016, TR IR AR R Ao
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Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Match the fnllnwing cnmpnunds

(Column-I) with their uses (Column-II) :

S5 No.| Column-1 5. No. Column - 1T
(1) Ca({OH)s (A) casts of statues
I | Nacl (B} |white wash

(1) r:ascu-%ﬂzo (©) |antacid

(IV) | CaCO4 (D) |Washing soda
preparation

Options :
40503641917, (D-(D). (IN~(A), (D-(C), (IV)-(B)

40503641918, (D-(C), (IN~(D), (IL)}-(B), (IV)-(A)
40503641919, (D-(B), (ID-(D), (LIN)-(A), (IV)-(C)

40503641920, ((B), ()-(Q), (M-(D), (IV)-(A)

Question Number : 35 Question Id : 40503611565 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Frfafad Tl (Fem-1) F1 376 ST
(FEm-11) F WY A FHITAC :

FTh e - | T el - 11
M | CalOH); (A) | it 6 zem
(I | NaCl (B) |=EE
(111 '5'-39'3-1% HaO | (C) |ufi—sse
V) | CaCO3 ) |T EEH

T




10503641017, (0-D), (ID-(A), AM-C), (IV)-(B)
40503641918, (DO, (D), (IM-(B), (IV)-(A)
10503641916, (D-B), =), (ID-(4), IV)-(Q

140503641920, D-(B), (I)-(C), (I)-(D), (IV)-(A)

Question Number : 36 Question Id : 40503611566 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The reaction of NO with N,O, at 250 K
gives :

Options :

[

NO
40503641921.

¢

N,O,
40503641922, 2 -

40503641923. N0,

-

N
40503641924. =

Question Number : 36 Question Id : 40503611566 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Correct Marks : 4 Wrong Marks : 1
250 K 1 NO i N,O, % T afufshan <dt
%

Options :

NO
40503641921. =

N,O,
40503641922, 2 -

40503641923. NGO,



-

N
40503641924. =

Question Number : 37 Question Id : 40503611567 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Reaction of an inorganic sulphite X with
dilute H,50, generates compound Y.
Reaction of Y with NaOH gives X. Further,
the reaction of X with Y and water affords
compound Z. Y and Z, respectively, are :
Options :

40503641925, > and Na,SO,

S0, and NaHSO,
40503641926. = :

S‘C?'3 and I‘*-IELHSD'3
40503641927. : :

SDE and NE!tZSO3

40503641928.

Question Number : 37 Question Id : 40503611567 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Correct Marks : 4 Wrong Marks : 1

U SEEE Howse X 99 H,S0, F |1Y
sfaferan =eF AfTF Y T 21 Y Ft NaOH
F T AT X S 81 g4, X FY a0 5
F Ty sAfufma AT Z 3 1 Y 991 Z
€
Options :
40503641925, ° T NazS0;

SO, @1 NaHSO,
40503641926, ~ 2 :

SO, T4 NaHSO,
40503641927 - :



SO, T Na,SO,
40503641928. 2 e

Question Number : 38 Question Id : 40503611568 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 4 Wrong Marks : 1
Mischmetal is an alloy consisting mainly
of :

Options :

40503641929 lanthanoid metals

40503641930 actinoid metals

40503641931, lanthanoid and actinoid metals

40503641932 actinoid and transition metals

Question Number : 38 Question Id : 40503611568 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
forer v Fr=fefias § @ frae fagg 22
Options :

- e
40503641929. o .

40503641930. ~ I

40503641931, TTITAS T WIS HIqY

- » - s: war
40503641932, NIETTAE TET HHHIT H1GY
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Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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For a d* metal ion in an octahedral field,
the correct electronic configuration is :
Options :

1, when ﬁu} P

tag Cg

40503641933.

1

3
tg €5 when A <P

40503641934.

té}, D{é when A <P
40503641935. ™"

2 2 . )
40503641936, 8 2 When A, <P
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HATFAHE &7 H U d4 91 379A & e wal
ESEFIRERCE IR

Options :

i

el S=EAS>P
40503641933, & & o

£ el SHA <P
40503641934, & & o

40503641935.

B9
e th, A <P
40503641936, & 2B 0
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Correct Marks : 4 Wrong Marks : 1
The average molar mass of chlorine is
35.5 g mol I, The ratio of **Cl to ¥Cl in

natu raII}-' occurring, chlorine is close to :

Options :



40503641937.

I
i

40503641938.

40503641939.

40503641940.

Question Number : 40 Question Id : 40503611570 Question Type : MCQ Option Shuffling : Yes
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ﬁﬁiﬂ-ﬁjﬂﬁﬁmﬁﬁﬂqﬁﬁﬁgmfﬂ 12
WiFfasw FE § 35C1 @R 37Cl 1 HuE
GUEUR S

Options :

40503641937.

I3
=i

40503641938.

40503641939.

40503641940.

Question Number : 41 Question Id : 40503611571 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

A crystal is made up of metalions‘M," and
‘M," and oxide ions. Oxide ions forma ccp
lattice structure. The cation ‘M," occupies
50% of octahedral voids and the cation "M’
occupies 12.5% of tetrahedral voids of oxide
lattice. The oxidation numbers of "M;" and
‘M," are, respectively :

Options :

40503641941, T2 T4



40503641942, T4 12

40503641943, T1 3

40503641944, T3 1

Question Number : 41 Question Id : 40503611571 Question Type : MCQ Option Shuffling : Yes
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HTq A M, M, T ATFEES A
F1 UF T = = g AT A
UF ccp WIeTdh HEEA W &1 U MY
HAEEE SeTH & 50% STewersh! ffeaal &
WA € A4 M,) 12.5% TqoRers! T &
W ¥ M, T M, T AT HEA
HHI: % -

Options :

) /
40503641941, T2 T4

40503641942, T4 12
40503641943, T1 3

40503641944, T3 1
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For a reaction,

4 M(s)+n05(g) = 2M,0(s),

the free energy change is plotted as a
function of temperature. The temperature
below which the oxide is stable could be
inferred from the plot as the point at
which :
Options :

the slope changes from negative to
40503641945, Posttive
the slope changes from positive to

b

40503641946, " OVE

the free energy change shows a

change from negative to positive

40503641947, Value

the slnpe cha_nges from positive to

40503641948, T
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T A 4 M(s)+n O, (g) = 2M,0 . (),
% o 7o Sl 9iEdd & a9 & Fed &
®Y H welfEd faan s €1 Seng 9,
foraes =9 st wrh 2 139 fag F =
H agafa faran st € faw o
Options :
T T IS NS 9 9 2l
40503641945, €

AT 1 UfEd 99T S | B il
40503641946, © !



e Sl It e § SHeHF 9
40503641947, 5 AT g F

T 1 U S I H g
40503641948, €|
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A set of solutions is prepared using 180 g
of water as a solvent and 10 g of different
non-volatile solutes A, B and C. The
relative lowering of vapour pressure in the
presence of these solutes are in the order

[Given, molar mass of A=100 g mol L.

B=200 g mol~1; C=10,000 g mol ]
Options :

40503641949

40503641950, B> C>A

40503641951, > B> A

40503641952, A=C>B

Question Number : 43 Question Id : 40503611573 Question Type : MCQ Option Shuffling : Yes
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Se = 180 g =1 faema® % &9 # qu1 fafa=
FETOTEiE faerdi A, B9 C 10 g 1 35
FF Ao 1 UF TH=F T A g1
fareri =1 3ufeafa § arw <= % 9E saTaA
FHFAC
WW%:AHWWH:lDﬂgImI 1,
B=200 g mol ~!; C=10,000 g mol 1]




Options :

40503641949. °

40503641950.

40503641951.

40503641952, A= C>B
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The value of K_ is 64 at 800 K for the reaction
N2(g) +3H2(g) = 2NH3(g)
The value of K, for the following reaction

15 :

| .
NH;j(g) = 5 Na(g)+ - Ha(g)

1
2
Options :

40503641953, 1/ 64

40503641954, 8
40503641955, 1/8

40503641956, 1/4

Question Number : 44 Question Id : 40503611574 Question Type : MCQ Option Shuffling : Yes
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ATTHA, No(g)+3H () = 2NHs(g), %
fem K_ =1 #1800 K Wed 1 Frafafas

Afuferan & UK _ =1 7 & -

' el s :
NHj(g) = 5 Na(g)+ - Ha(g)

Options :

40503641953.

40503641954.

40503641955.

40503641956.

1/64

1/8

1/4
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For the given cell ;
Cu(s)|Cu®* (C; M)||Cu?*(C, M)|Cu(s)
change in Gibbs energy (AG) is negative,
if :
Options :

{"l
40503641957 -

="z

Cy=+2C;

40503641958.

40503641959.

-2 05
40503641960, .
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o3 ™ I«
Cu(s)|Cu2* (C, M)||Cu?* (C, M)|Cu(s) F
fem =g == # wfiadq (AG) Fomers 2,

i -
Options :
o
40503641957. 5
Cy= G =
40503641958. s
hon —
=247
40503641959, 2~ V2 €1
i T .t
40503641960. "
Sub-Section Number : 2
Sub-Section Id : 405036812
Question Shuffling Allowed : Yes

Question Number : 46 Question Id : 40503611576 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The atomic number of Unnilunium is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.002

Question Number : 46 Question Id : 40503611576 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

e =8 (Unnilunium) 1 S7H0] 5T &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
¥ collegedunia



Possible Answers :
5t0 5.002

Question Number : 47 Question Id : 40503611577 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0
If the solubility product of AB, is
3.20x 10~ 11 M3, then the solubility of AB,
in pure water is X100 4mol L™,
[Assuming that neither kind of ion reacts
with water]|
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The rate of a reaction decreased by 3.555

times when the temperature was changed

from 40 “C to 30 °C. The activation energy

(in k] mol ~ 1) of the reactionis _

Take; R=8314 ] mol ! K~ 1 In 3555=1.268
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For Freundlich adsorption isotherm, a plot
of log (x/m) (y-axis) and log p (x-axis)
gives a straight line. The intercept and
slope for the line is 0.4771 and 2,
respectively. The mass of gas, adsorbed
per gram of adsorbent if the initial
pressure is 0.04 atm, is * 10 45.
(log 3=04771)
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A solution of phenol in chloroform when

treated with aqueous NaOH gives

compound P as a major product. The mass

percentage of carbonin Pis

(to the nearest integer)
(Atomic mass : C=12; H=1; O=16)
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For a suitably chosen real constant a, let a
function, f : R—{—a} — R be defined by

a

f(x) = > . Further suppose that forany

at+x

real number x+ —a and f(x)z —a,

(fof )(x)=x. Then I_{{ %\| is equal to :
=)

".

Qcollegeduniae



